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FRI0E SHE HBREFEH
8A% (8 NEERE (B)
AT | REF | REENEE | #uH NS REH REGEWEE | @R
CNGV - CHGVH - CHGTHERRF LIt DHE &

500LK %
LPG 572, 793 2,125 0 2,897,011 6,868 0
PG 54, 268 13 0 324,414 13 0
LG 31,302 102 0 219, 555 254 0
AG 2,495 3, 000 0 20, 346 3, 000 0
LT 4,512 1,465 0 15, 396 6, 361 0
LNGV 0 0 0 0 0 0
DL 0 0 0 0
(LDH 0 0 0 0
CHGGV 0 200 0 324 1, 600 0
ZDith 42 0 0 505 0 0
EaEsSR | 665412 _ _ 6965( } of ___.: 3,477,851 ] 18156f 4 _________ 0
HEERAL (%) 94.7 103.3 0.0
sEgmast | 62377 | 3495707 _________________ |
MaEREAE (%) 9.7

500L 1L 10001 & 5
LPG 0 0 0 0
PG 679 0 n 0
LG 172 204 10 2, 206
LT 0 0 0 0
(LDL 0 0
(LDH 0 0
CHGGY 0 0 0 0
ZDith 0 0 37 0
mREEAR | 14 04 6218 2206 L
AETER AL % 125.9 86. 6
Weges ________________ [ ___________________1es ________ | gaek ________ ]
iR A L (%) 0.2

1000L Lk E
LPG 194 410 75 5,043 2,351 299
PG 0 0 0 57 0 0
LG 48 39 0 1,061 960 15
LT 50 8 12 305 60 65
LntL 0 0
(LDH 0 0
CHGGV 0 0 0 0 0 0
Z Dt 0 0 0 31 15 0
ERmEgest | 1 892f . 4o7( 8 . 6474 3392 L75] I
HMBIERAE %) 100.6 104.8 89.0
\e®set ________________{ 1. to,268 ]
AEFERAE %) 0.3
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FHI04E 8P BEREEEN
8A% () NEERE (B)
ALvd | RreR | REENEE | wts A7 | kReR | RAENEE | #ts

CNGVARR DR
EERIN <y S R 7] B ] I o _________ of ... 24| I 1] A o _________ 0
HNBER AL (h) 4.2 0.5 0.0 0.0
ovevegex [ w ________ [ 286 ]
XEERALE (%) : 0.0

CHGVHZ 25 O IR &
ey S R sl o o of sl o ] 0
AETERAE (%) 29.4 0.0 0.0 0.0
CevhEMest [ S I 1
HETER A (h) 0.1

CHGTHE 3= DI R &
REga | o ] ) I ] S | I o of T 0
HNETER A (%) 0.0 0.0 0.0 0.0
CHeTHEM &St | o . o ]
HEERALE (h) 0.0




